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1. Answer the following questions :. o - ~1x10=10 . hils fe) S Let Asbeia matfix of order 3, Sul.ch that-|A|=-9. Find the
I o S - o , ' . ~value of* |—3_A‘1_|.' : g : i _ : % 1
| e i _ S WRIT A G 3 AR TR TS |A=-9 1 |-3 A7 3w Fefy
(@ Let A= {x:1<x <10, x is an odd natural number} and i Al . ' : |
o Bedy 90<y<100,y is a p'rim_e number } . | |

Write the number of relations from A to B. Al . ) : '.()? I 2*=34 fhen find % s . ' . 1

W'Q’Tﬁ _A={\x:1-'<x<10,' xaﬁwenma@mrw } i<
B={y: 90<y<100, y 95l GTfEws eyl } |
AT SR Bt (A TR R

- afi 2% =39, (erw gx__@i fRef w11

) Bvdliate |SRpESheo 80t ey B el | g

(b) Write down the range of f(x)=cot ™ x. ey e jgxf"*(x-?)dx ﬁﬂ% |

FO) = cot™ x TR SRR BRI | |
' (h Find 'the'_'_ order and degree of the differential e ﬁation :
AR, grec. : q

bk s ot c - .
S ]

(c) Find all the po'sitix-fe vélu’es_ of 2x2 determinants whose entries
'are- from the set {-1,0,1}. - ' e b ' : dx?

el {~1,0, 1} 7 Gliel A 50 2 x 2 ARPRCAIRE FCE LG T | d?y ain® = e _ Ll
L o _ ' - 1 s "-.-'————7[-—~)'+6 =0 SRFE M T Si% qo [efg i1
ff == | : o Lome N e Sl e
(@ . Let A be a 'skeWTSy_mmetr-ic' matrix of odd Ordér. Write the : . _(i).' S Write the intérﬁal i Which the function f(x)=cosx is str'ic_tly A
Cwlue of JAL -t o ' 1o decreasing. g e i L ey
: W ﬁ,ﬁ A‘ﬂﬁ Wﬂsﬂ ﬂkﬂﬁﬁﬂﬁ ﬂsilgl\ﬂ (;ila. I_Q_S'W ._| | AI q T %RHI : f(x)zcosx W—C‘m MW@ ﬂ““\g\g W "Q*g] f%[-anl
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(i ' the plane passing through (a, b, ¢) and :
i/ Write the equation of the plane passing throug (a ‘c). fﬁi'i’ﬁf R»R%f(x] & bt ?IWTE!ZC'S\WTQEQ R—»Ras

parallel to xy-plane. S : 1 2

g(x)=

'(-a) b,c)ﬁ“ﬁ TSR @7 F xy-ATSETH FAGIE (YA ATSHLTI
et e | | S Cﬁﬂ@@m, fa=g-f.
4. Show that

2. Let the mapping"f(x)=ai+b,_a>0, maps [-1,1] onto [0,2]; S i e s

show that cot(cot_‘17+cof_‘18-+cot‘l18):f(2). e 2b b-c-a - 2b |=(a+b+c)” g

: : _ 2 . 2 c-a-b
@ TR f(x)=ax+b, a>0 W [-1, 1] TSR A¥FaTA [0,2]; i

5 : > 1 _ _ (ST (@,
: _m@@ Cﬂ, .cot(cot“17+c<.3t"18+cot‘ 18)=f(2)._ . a-—b-_c_ e T : |
. - | 2  b-c-a 26 |=(a+btc)®
OR/WW Srefiore : T e L2 O pagih :
Find the value of - OR/WW
cos ' x+cos” { (x+1./_\ll x ]} —<x<1 e e ] .
i 2 Without expanding show that
coS™ X +cos” { (x+J_\]1 x ]} 5 19 = iR :
s _ . - (*+b*) (B"=b*) 2(=0
A (el =1 | _ : e
% (_c’chc""")2 (c’c_—c_’?')2 2 e
3 Let f:R_—)R is defined by f(x)=3x-2 : o Has | ' : ﬁ@qw (W‘%,{*GETCZI
and g:R— R is defined by_g-(x)=x—;~—. = e )2 (a*-a™ )2 D
. . i . . : . ; E ; | ; 5 x = 2R . _.x'..2. : } S ..
Show.that f-g=g-f. ke YA o bseR (b ) 210
| . | . | (c”(+cx)2 (cx—cx)2'2
MEIMATH | il L ERRTR ot (5] - s



fx)=|1-x - | x|, xe R is a continuous function.

@YeT @, f(x)=|1-x+|x|, xeR & W&@T@ T [, 4Gl Ao - differentiable.

. e |

OR /9241 -

Discuss the applicability of Rolle’s theorem to the function

f()=x*+1 on [-2,2].

T )= 12 41, T [~ 2, 2] © TG ToloAMR Tl e el

G, o df yz\ie&, find %; '

iy o U R

! — Ay o a
T L yzécos_l_(l L j, x20,

T+4x

dy
find i

e
= — c0s xz20
it e (1+4x3] ’
- :
(S08 —— W FT F)
e R B e

Show that the function f defined by
4

OR / 54!

. Determine the set of all point.s where the function flx)=x| x| is

T £ (0 = x| x| SRR 2R R A R <)

_' ' o lax oy o e S
8. Evaluate I‘; ( e ] dx : " i E
. - =X . _ o

[ ;"xéjdﬁc'#mﬁﬂfﬂ'wl
Vi-Xx
- OR/w%at _

cos 8 e
. x+1 i
tan2x —-cot2x

Evaluate j.

I 00883;+1 .

tan2x —-cot2x Et{mﬁq‘ﬂm“_

9. Evaluate Io—dx'. g ' _ 4

j;é—"f)—gdx % R e < |
o ety
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- %% l+tanx

10

1.1,

- OR /@9

1

at — dx
Evalua e J% 1+tanx . |

j'% - danﬁCfﬂW|

Solve the differential equation e : : 4

- S
2 D= 0c log X
xdx Yy ___9‘

S x%wyéxglogx Sl A

If y=3cos (Zogx) +4sii1(logx),

o d2 d : : ‘ "
show that xzay-z-xd)yc y=0. : &

o ﬂﬁ y'zl?.,cos(logx.“) +4sin(log3_c_),

o L

REA @, x2S +x
(R dx

2

2 dy,  dy

+y=0 |
dy

o é =6i+8] and oy 3j+4k then detcrmine the vector component

of G along b G ' S

‘aﬁa 61+81‘5ﬂ?4’5 b= 3;*4k mbaﬁﬁ— aaﬁa@mﬁﬁcﬁmi

29T MATH = ' el

13.

14,

oM 0

Ld= 35+2-} +2-E',__,5 =i +'2}—21€ CST8 d+b OF g

 A={x:1<%¥<50}.

OR /&4

- Find a unit vectoi.' perpendicular to each of the vectors @+b and

~b, where d-= 31+2;+2k and b=i+2j- 2%

bmﬁc—*ﬁ‘@\'sv{%‘
Y Q9 G (O e

A natural number is selected at random ffom the set

Fmd ‘the probablhty suoh that the number

satisfies the mequatlon X2 —18x<30- ; : s 4.

e A= {x 1< x <50} awwﬁ@—mxﬂmwﬁﬁaﬂmw'
wa’am\anmwmﬁmq x? ~13x < 30 ST TR TR f

TR

0 .-'taﬁg by =5
If A= - - '_2 , then
| tan— 0
2.

: : cosa -sina |
~ show that I+A=(I-A)| :

sina cosa

‘where I is the -idenﬁty matrix of order 2. 6
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ik 15 Form the dlfierentlal equatlon sat1sﬁed by (x-a)? +(y b) :
= 0 —tan-z— where a and b are arbitrary constants. o 6
tan% 0 . _
(x=a)? +(y b)’ =r Wﬁ%wwﬁ@ﬁﬂéﬂw TC a W%
= cosa -sina | b Qfts 47|
el @, I+A=(I-A) :
L sina cosa :
T [@ 2 AR TR | OR /@2
_Q’R/WW Find the- maxunum and minimum values of the functmn
b : : ; f(x) x+sm2x on [0, 2?:].
L = _ .
If A=|2 3 2|, then find A;l,;.and hence solve the [0, 27 ] @@3151 f(x) x+sm2x eI 55 ‘ﬂﬁiﬂﬁﬁ“ Sﬂ?{ﬁcﬁ:
S =3 4 '
S Istem of é uations - - . - e iim
y . i g Lo 16. Prove that the area of a right angled triangle of a given hypotenuse
x+2y-3z=—: e el e e 3 LU : ey
. +_3§+ Sl 1s maximum when the- triangle is isosceles_.- e B
3x-3y-4z=11 5 |
o mquwﬁﬁﬂﬁaﬁwﬁﬁ—mm%ﬂmm‘@ﬁ
1. 2 -3 _ ﬁl ) ’fﬂi%QIQiﬁi :
A=l 2 3 2| =@ A Bl |
e _ G : OR /9341 -
3 -3 -4] | . -
e Find the area of the smaller portion enclosed by the curves
AP oS -
i A - x24 y? —9andy—8x
X +2Y =32 =4 T
. 2x+3y+2z=2 - e ol .
3x-3y-4z=11 x> +y? =9 Wis y° =8x 7@ wiew 7w wxe e Fey )
SR S : 0 ' ot
i '29T.MATH.._ L " ' [10] % ZQT-MATI—I" . . : [11] i i Contd. :



17.

Find the shortest distance between the lines

'.F_='6f +2]+2k+ A ({ oy 2K )

and F = —4i -+ (31 -2j-2€). T :

-';-;6f+2j+2£+z(f;:zj+21€)W'F:—'f’rf—ﬁw(ﬁ”?“}-?ﬁ) @ :

g TS AT G = ‘T?%W%@%@WM-'
ol T Bl T

18.

OR/ @4

Find the equations of two lines through the origin which intersect

,the line x;S =£:—’€,‘:—'E at

H
p—t
Wy

3 y-3

_'Prové that () )x (@+b ) = 2 (axb ). ‘Hence find the area of the

parallelogram whose disigo_ijlals are the vectors

3irj-ok and T-3j 4k e o e

29T MATH = . St

19. Solve the linear prqgramming prqblém graphically. .

291 MATI.L'.I'

e T @ (&-—5)x(&+5)=2(ﬁx5)-| qTOlF (OF 37+ j -2k o

2534 4k = RES SmieRey S5 B
OR::/W'

Find the vector equation of the line passing-thlr“ough (1,2,3) and

Parallel to thg planes 7. (‘{_}+2E)=5 and 7. (31+j+?€)=6

(1,2,3) Reg T <0z Ca w7 ;‘.(f_;m:-.);s_ i

F (347 +K) =6 IO G R (ST A B |

AR A we @R dealfiR ARG s St

Maxxmlze z=20x+13y, subject to the cdhditions '
2x +1y <200, ' ' | '
x+y<150 and x>0, y=0.

. z=20x+15y 3 G W The

-y,

2x +y <200, s
x+y<150 WF x>0, y20 |

. [1_ ] Contd.



20,

OR/ @Al

Maximize and minimize
z = 5x + 2y, subject to the conditions,
x-2Yy<2,

3x+2y <12, SR
- _3x+2y<3 .and x20, y=0.

z= 5x+2y ﬁwwmw%ﬁem
?I\:),‘
x—2y<2,
3x+2y<12
ﬂ3x+2y<3 @Iﬁ?x>0 y>0|

Two numbers are selected at- random from a set of ﬁrst 90 natural
numbers. Find the probabmty that the product of randomly seleeted '

- numbers is divisible by 3. e : : 6

AL 90%1%3&%%%&%%%1@%@@%1@%@

_-_ﬁaamww[mz‘m@w 3« Ry @WwﬁﬁﬁﬁW1

-OR/W .

| ;In a 3x3 matrix, entries a; are selected randbmly from the digits

O 1.9.3 4 5.6, 7 8,2 with replacement where each element @;

s a three digit number Fmd the probab1hty that each element in

each row is divisible by 15.

BeMATH - T

@bl 3x3 mam (T GTePTR @; F 9T 0, 1, s a4 6., 7, 8,93
ﬁﬂ%ﬁ%ﬁﬁmmﬁaﬁwwm,w@mﬁ a; <o Fof =i
R et | elcer =19 eiere GTE1 1503 Retey (2RI wifiel Refy <

WYMATE [15]






L ()

b)

i

What did Meissner actually observe which is known as Meissner

effect? 1

mm%wmﬁiﬂwmﬁmﬁmm

A very 1nterest1ng fact regarding electromagnehc waves can be seen

with the help of a portable AM radio. What is it ? 5] 1

@5l S'q6IT AM @%@?Wwawﬁﬂw\ﬁﬂwﬁﬂﬂmm
Rle ok R NG mﬁawmmﬁamrﬁw

s Mentmn one similarity between C oulomb force and gl'av1tat10nal force

- acting between two stationary charges. il

(d)

(e)

1 wwge. W@TWWWWWWWWWWW
WW&WWWWI |

Define mutual mductance of 1 Henry. e : 1
1 (@ SARIRE S e | |

If the radius of the first orbit of hydrogen atom is 5- 3 x10°!

.what is the radlus of the third orbit ? ]

TRG (T A ﬁ%ﬁwﬁ%m 5-3x107'm i’mﬁﬂwﬁ%

_Wﬁwv

If the work functlon of two metals X and Y are 4.17eV and

8.24x10719J respectively, then for which metal lesser amount of
energy will be required to emit an electron ? Lid el

3 X Y 419 5 0T SR N T 4172V 9 8. 24 x 10719

' g

T (0T (@RY oIl SeTE sl Ji) N *few d@ie 297

Arrange the following communication methods / modes in
descending order on the basis of their operating frequency. ° 1

wmﬁmwaaam—ﬁmmmﬁmwwmm .

wwwwﬁ@wml

(i) AM Ra_dm tra_nsm_lssm_n

 29TPHYS

QAT (TSI TG

. [2']._

(i1) Cellular communication

(h)

2 (Attempf any ten of the ﬁ)llowmg quest:ons)

_mﬁ’tﬂvgﬂ"mﬁm

(tii) Sky wave propagatlon

Ww\ﬁﬁw

(fv) Satellite communication

Tolalz E-ICAe 9T |

The sparkle of a dIamond can be explamed by WhICh phenomenon of :

light ? . : : 1
%ﬁ«ﬂwﬁéﬁ%ﬁ CoTZT mﬂﬁaﬂﬁmﬁﬂmﬁwﬁaﬁﬁv

-

- (Recie webt 25 Beq fas)

(a)

: oscdlatmn o

A magnetlc dlpole is oscﬂlatmg 1n a magnetlc f1e1d obeymg the -
following expressmn ' :

d0 - mB
e et . :
What is the time period of oscﬂlatlon and mention the nature of -

1Ya+1H=2

@Bl WW&@W@@—@W: mﬁﬁﬁﬁﬁwﬁ '

o

29T PHYS -

W szl

dar? I
G CATSTeReret ﬁcfa 349 OiF Te (e a?xw\e @hcm zfam

: ;
d6 mB.Q

You know that Ampere’s c11'cu1tal 1aw is mathematlcally expressed

-as gwen below.

95 B. d! ,uo i :
Also you know that this law was corrected by Maxwell and which is
known as Ampere-Maxwell law. Write the general form of the law
and name the additional term. ~Iwl=2

(3] ' : Contd.



o T mmﬁ%@mafﬂmmﬁmw—ﬁquwwm

B.di= Uyl

'*ﬁW@MWNmW@QWWﬁ@ﬂWW

| qﬁvfwwmw%qwm sIfAfo® el Wi 97 FAABIS 4

- iR AR A i)

(c)

Explain in brief — “Infrared waves are sometimes referred to as heat

waves.” i ' : 2

| _Www W‘ﬁxwmﬁﬂ“ﬁﬁ{ﬁ\ﬁm

@

?{T{ I”

shift? 1+1=2

@ mwmﬁw (i) T8 e AF (i) N I R =

(e)

0

mwmmwmﬁww rww@rﬁﬁwwmﬁw E

Draw a neat diagram to show lateral shift of a ray refracted through

~a parallel-sided slab. Indmate the lateral shift in the diagram by a _

double headed arrow. o 1Yot 1o=2

7R G IS $54 b t—‘ﬁﬁ ‘ﬂmf%efﬁiﬁ—ﬁﬁlﬂﬁﬁﬁ%ﬁw
mﬂaﬁaaﬁﬂﬁgﬁ%wﬁﬂlm—ﬁwa@mwﬂ@wmﬁ .

W?ﬁﬂ

_Defi'ne one coulomb charge, Two point charges at a distance r in air
exert a force F on each other. At what distance will these charges

experlence the same force Fina medium of dlelectrxc constant k?
' 1+41=2

hie k%&ﬂW\ﬁﬂWWWWﬁWWWP@WW

29T PHYS

4

Under what conditions Doppler effect is called (i) red shift and (7i) blue

)

Find the value of current I ﬂowmg from A to B in the followmg'
circuit. : - ; K e

e s i Bmmﬁ—mmfawﬁ=ﬁW|

(h)

M

()

e
AMMVVAN—
5 40
A—>WW— B 49
40
AW

| ———— A —
dy i bett el 002

Explain Lenz’s law from the principle of conservation of energy.
e AT ‘F[JEI'»’HT (i aarﬁi-imﬁm 541 |

What is modulation index ? If the maximum amplitude of an

" amplitude modulated wave is 10V and the minimum amplitude is

2% what is the value of modulation mdex ? 1+1=2

Sl by fre R wfere _—ﬁ'\ﬂ‘ ﬂmw ERiE IOVWmﬁﬁ'ﬁ'ﬁ ﬁ@ﬁ |
2V 2@ T 5 W ﬁﬁﬂ?{ *f‘a? e

Obtam an expression for drift velocity of an electron in a conductor.

e ﬂﬁa@amw\mm tw maﬁmm@

_. . _

Establlsh the relation between the focaI Iength ( f ) and radius of

- curvature (R) for a sphencal MIrror. ; i v

: cﬁwmvnmmmzﬁmm (f)W‘T@TW@ (R) wmd ;
. warcmvmawn : '

29T PHYS :

™ o e



3 (Aftempt any nine of the followmg quest:ons)
(Ricpren w61 237 Tes farsi))

(a)

®)

There is an electric dlpol(. on the x—y plane. Its dipole moment is
4%x107° Cm. On the same plane there is also a uniform electric field
of magnitude 5x10*NC™. If the axis of the dipole makes an angle

- 30° with the electric field, calculate the magnitude of the torque
~acting on the dipole and also mention the direction of torque.

2+1= 3'

X-y ® T@ﬂ@%WWIWWWﬁ 4x10°Cm |
U OO 5x 104 NC ™ TR G4 97 @pfess (rae g | 1w facames
oS AT (FIIEE (S 30° (Bl 0, (STB RHR0BI 6o e ferariie

59 A [ 1 I @i T 5 et Tray S

The capacity of a parallel plate capacitor with air is 18 pF . When a
dielectric material is inserted in the space between the plates, its
capacity becomes 108 pF . Calculate the permittivity of the material.
What is the material ? - 2+1=3

'WWW&%WWmmmeWWWWW

51 ol PR @, q9e =l IOBpFI‘?lWTQfCﬁW"RTﬁTQ &3
. ey = omieRy & .

@

A current carrying solenoid is shown beIow Show that the magnetlc

_ fleld intensity at point P be

Bl
4z r - i
where the symbols have their usual meaning,. ' Hi

€0

AR 6
R W

- 1 —>

-\..I

-Lwﬁ—ﬁm&aﬁﬁi—ﬁwmww‘iiﬁ”ﬁﬂPﬁT

(;ﬁi‘i’ﬁitﬁaﬁ AT €9
Ho om
3= —_
4z r3’

: 'iI\-: le‘q?a— © FEOEIE Havs 9 T8 ‘PI‘%CQI

29T PHYS

(61

@@

@)

Consider that the electric field amplltude of an electromagnetic wave |
is E, =120NC™" and its frequency is v = 50Hz Determine B,,
and il : LB

uﬂﬁﬁ@&wﬁﬂ?&mﬁvga Wﬁ'@ﬁ EO—IQONC WM%

v =50Hz T R By, o W k Fefe )

" Show that the total energy ‘of an electron in an atom is negative and

it is -
: e gl
e
87meg :
 What is the significance of the negative energy. ZEL=3
ryeq mﬂwiaﬁr %T?ﬁ@ﬁ ﬁ%ﬁwﬁwmwifﬁ
2
Fp i aElah

87 &
A «feT oieay e |
Name the only gate which is used in the following circuit. Write the -

0

truth table for each of the circuits. Identify the logic operation
(ie. OR, AND, NOT etc.) performed by the circuits. 1/2+(1/2+11/2)+1/2_3

D

(@) A
@5 T HHIS IRZS GG (354 [ AT a—oﬂ%’ AR T‘:‘Ql c“raﬂ' .
=il erf ealBl 48NS iR @mfﬂ%ﬁsﬁm(wﬁa OR, AND NOT

- pifn) foeres w1

(g)

“Two long straight thin conductors Carrylng currents I and I,

respectively along the same direction are placed parallel to each other
at distance d in air. Find the force per unit length acting on any one

of the conductors. Hence define one ampere. 2+1=3

d@_WW@WﬁW@HWCWWW I 5% I
Waﬁ%ﬁmﬁ—miﬁmmﬁﬁaﬁﬁa&mwmww

5 ﬁ‘fawwiﬂﬁwaﬂauﬂww@tﬁmi '

29T PHYS
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(h) Draw a ray diagram to show the correction of a myopic eye. The near
_point of a person with defective eye is 75cm from the eye. Find the
power of lens requlred to see clearly at 25¢n from the eye.

_ . 1+2=3

R m@amaﬁnaawaw@mmawﬁaa “
& 537l 75cm@\4—uwﬁr| 25cm 73S B ﬁ%mﬁa @
wFo! W 91|

(1) What are coherent sources ? In a Young'’s double slit experiment the
intensity of light at a point on the screen where path difference 2 is
Kk units. Find the -intens.ity ata point where the path diffefence is %
1+2-3 :
WW’W%@{% @mﬁﬁaﬁw—wmﬂﬁ@wawﬁ' ' ®)
TR TR AL AL 2 | (R g #7 ARE ke 975 | S nﬂﬁf 1’?‘1?»16 Rl
A 74 2 R R ﬁﬁi%fﬁm’m?ﬁ?

. (i) Explain the source of solar energy with the help of proton-proton
; cycle What is the role of cadm1um rods in a nuclear reactor ? '
2+1=3

_ﬁﬁﬂﬁﬁwmm—ﬁm%%aﬂaﬁﬂﬁﬁwﬁ%ﬁﬂwm—
@wﬁmﬂwaiﬁmwv

4o (Aftempt any three of the followmg questmns}
(Ricrzan fefior es e forsl)

(@) “The phenomenon of electro magnetlc induction has been
; _technologmally important application in the generation of alternating
currents.” Name the device which can generate altematmg currents.

-Draw a neat d1agram of it. A rectangular coil havmg area vector A
and number of turns N is rotating in a magnetic field B with angular'_ |
- speed @. If @ be the angk made by the area vector A with the field

B at time. t, derive an expression for alternating emf ¢ starting
directly from Faraday s law. Draw a graph to show the generated entf

at time O, %, % 3% and T _ L 1/z+1_’/51+2+1=3. -.

S - - - _ T PHYS
29TPHYS (8] g

R 1 e ARG HafeRTe Rfew s A Tz i

TR 9ol @W@ﬂwvz‘aaﬁaﬁmﬁw w1 RS ez
'-%wrmwwﬁaﬁaaw%anmﬁaaﬁaﬁmﬁwmw
% A CROTE (3 <5l INeE FeA o (BT HRE B G
_ W‘{ﬁ%lﬂﬁmﬂ@mmAWBana 6 T, (o3

(FCTA RClERE 3R aﬁzr““f va&blm <@ @5t eI el s

T T 3T
9 A /2 A W T HANTS E@iﬁ @1@1 |~qu§ NGES sl a6l @M
W\W_Wl ' : '

State Kirchhoff’s (i) Junction rule and (ii) Loop rule; Determine.the %
equivalent resistance of the network given below and the total current

gomg out of the battery. leen, each resistor has resmtance of 102.
1+1+2+1 3

W(z)wwaﬁ@aaW(zz)mﬁaT@fMMm—ﬁm
mﬁawwaw@ﬁﬁwmﬁ%@mﬁmﬁcﬁw:ﬁmw
W@waﬁa@wwm@t&aﬂm 19 1

Wl e



(c)

You know that the modulated signal in amplitude modulation (AM)

is expressed as given below

' - C.()=A sina t+ ﬂgc cos (@, - a}m)ﬁ-%cos(a)c + @, )t.

Plot the frequency spectrum of the signal ie. a plot of amplitude

ve’rsus . Write what will happen if the modulation index 72 (L

: What are sidebands ? Write the full forms of PAM, PDM, PWM and

(@)

PPM.
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C(t) Asma) t+’u§Ccos(a) - Wy, )t mccos(m + @, )t

_waﬁﬁt@ﬂwm\waﬁ (oY TR 30, wﬁq 03 Rt
ﬁwmiwm u>1 i‘ﬁ%iﬁ%ﬂl?ﬂﬂﬂ%ﬂw%? PAM: '

PDM, PWM Wﬁs PPM 3 =)< ot T%WH

A source of enif , V,, sinwt is connected in series with an inductor L,

- capacitor C and resistor R. Calculate the impedancé' and resonant

frequency of the circuit. Also wrlte an apphcatmn of the resonant

c1r‘cu_11;. ‘3+1+1 5

V,, sin ot RS 1 T 451 SIS L, 49 C S G4 RS 0108
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1+1+1+(4><1/2) -
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For refraction at a convex spherical surface of radius of curvature R
from a medium of refractive index n; to a medium of refractive
index n, (n, >n,), establish the relation

N, n; nNa—mny

SRR T R

What will be the behaviour of a convex lens of 'r_efractive index 1-47
when it is immersed in a liquid of refractive index. 1-47 ? ==
il / 4+1=5
R Sie IpIEa < Tee (e o{é:@ n af—mwmww n,
AR e (n, >n1) a%ﬂacrﬂ%ﬁ (T ca'«;[eaw @

n.2 nl n. nl
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